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Kennwerte

J1=J9 =200 000 cm#4
J3=12J9

Eq=Ep= E3=21-107 kN/m2
A4=4cm2

Eq = 2,1 108 kN/m?

Gewahlt: Jo=Jq1: Eg=Eq

Reduzierte Stablangen
Uy = 447m
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4=y =447; U3=25; L)} =35

agg = 4,47% 28,6 (—4) +

+ 4,47% 714 (—4)

+25 % (—4) (28,6 + T14) = —1096
:
811 =2-447 g (—4) (—4) +
aus N

SR

+25(—4)(—4) +35:1:1= 911

aqq Xq = —aqq daraus X4 =120
Superposition

Mc =286 +12,0(—4) = —19,4 kNm
Mg=714+12,0(—4) = 23,4 kNm
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Kennwerte
J1=J9 = 300000 cm4
Eq=Ep= 21107 kNim?
A3=20m2

E3= 2,1+ 108 kN/m?
Gewahlt: Jg=Jq; Eg=Eq

Reduzierte Stablangen
=2m

=95m

=960 m3
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=2 ; Uy=5; L'3=9,60
a= Egdg1*o

Belastungszahl

g =5 3125 (=2 140 — 40) = 8333

Vorzahl

1
aqq = 5=3125-3,125 +
11 3 aus N

_|_

Gleichung

aqqXq = —aqy daraus X4 =322

Superposition
Mg=—140 + 32,2+ 3,125 = —39,4 kNm

KRAFTGRORENVERFAHREN




KRAFTGRORENVERFAHREN



Kennwerte

J1=J9 =120 000 cm4
J3=1,5J1

Eq=Eg= E3= 21107 kN/m2
2

A4=8cm

Eq = 2,1+ 108 kN/m?
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